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from sklearn.model sel
y = datal'Response']
X = data.drop(columns =['Response'])
X_train, X_val, y_train, y_val = train_test_split(X, y, test_size=0.3)
numk= [1, 3, 5, 15, 55, 101, 501]
knn_scores=[]
for k in numK:
24 g (« [ [
knn = KNeighborsClassifier(n_neighbors=k)

EEJEE)

knn.fit(X_train, y_train)

ion import train_test_split
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knn_scores.append(knn.score(X_val, y_val))
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best_score=max(knn_scores)
best_k = numK[knn_scores.index(best_score)]
print(best_k)
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best_k =55

=

X_train, X_test, y_train, y test = train_test_split(X, y, test_size=0.3)

(24 o1 (=] « 2t /g

knn = KNeighborsClassifier(n_neighbors=best_k)
knn.fit(X_train, y_train)

& [24 [&7]

Knn_acc=knn.score(X_test, y_test)

CEENE

print(Knn_acc)

0.8275862068965517
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